Chapter 4 Part IT Practice Graphing
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Determine the amplitude, phase shift, period, and vertical shift and then graph one period
of the function. Label the x and y axis for each graph.
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Find the exact value:
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14. Write an equation of the cosine function with amplitude 3 and period(47.) - 20
( B

Y= 20

=1

b=

15. Write an equation of the sine function with the given amplitude, period,

phase shift, and vertical shift: amplitude = 3, period @m g g ]
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16. Write an equation for secant function given amplitude = 6, period 9 phase 1 B
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